
Leaving Certificate 2020 6  
Mathematics, Paper 2 – Higher Level 
 

Question 2              (25 marks) 
(a) The circle 𝑐 has equation  𝑥ଶ + 𝑦ଶ − 4𝑥 + 2𝑦 − 4 = 0.   

The point 𝐴 is the centre of the circle.   
The line 𝑙 is a tangent to 𝑐 at the point 𝑇, 
as shown in the diagram.  
The point 𝐵(5, 8) is on 𝑙.  
Find |𝐵𝑇|.  
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(b) Two circles, 𝑐ଵ and 𝑐ଶ, have their centres on the 𝑥-axis.  Each circle has a radius of 5 units. 
The point (1, 4) lies on each circle.  Find the equation of 𝑐ଵ and the equation of 𝑐ଶ. 
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